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 †ivR Mv‡W©b MÖvgvi ¯‹zj   

  jvjgvwU, eøK-B, wgicyi, XvKv-1216   

cvV¨m~wP -2020 

cÖ_g- evsjv 

cÖ‡kœi aviv I gvbe›Ub 

1|  Avgvi evsjv eB|    

1g,2q,3q gvwmK cix¶v - 20 

mgq: 1. 00 N›Uv t                   c~Y©gvb t 20 

1| mwVK DËi evQvBKiY t (10wU)                               0.25  10 = 2.5 

2| mZ¨ / wg_¨v wbY©q t (10wU)                      0.25 10 = 2.5 

3| k~Y¨ ’̄vb c~iY t (10 wU)                                         0.5 10 = 5 

4| eY© mvwR‡q kã MVb I kãv_©  t ( 10 wU)                        0.5 10 = 5 

5| GK K_vq DËi `vI t ( 10wU)                                   0.5 10 = 5 

                                                                              ‡gvU = 20 

cÖ_g gvwmK cix¶v - 20 

Avgvi evsjv eB: 1 †_‡K 21 c„ôv t cvV 01 †_‡K cvV 16 ch©šÍ| 

1g ,2q, 3q mvgwqK cix¶v Ñ 70 

cÖ‡kœi aviv I gvb e›Ub        mgq : 2 N›Uv 

1| kãv_©  t ( 10 wU)                           1  10 = 10 

2| evK¨ MVb t(10wU)                          1   10 = 10  

3| KweZv 1 wU| (Kwei bvgmn 8 jvBb)    1+1+8 = 10 

4| G‡jv‡g‡jv kã mvwR‡q evK¨ MVb                 1   10 = 10 

5| hy³eY© t  (10wU)                                   1  10 = 10 

6| iPbvg~jK cÖ‡kœvIi t  (5wU)      2   5 = 10 

7 | ª̀æZ cVb          10 

            †gvU = 70 

1g  mvgwqK cix¶v Ñ 70 

 

Avgvi evsjv eB: 1 †_‡K 40 c„ôv t cvV 01 †_‡K cvV 28 ch©šÍ| 

`ªæZ cVb- cvV 03, cvV 05, cvV 55 

2q gvwmK cix¶v - 20 

Avgvi evsjv eB: 41 †_‡K 52 c„ôv t cvV 29 †_‡K cvV 40 ch©šÍ| 
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2q mvgwqK cix¶v Ñ 70 

 

Avgvi evsjv eB: 41 †_‡K 59 c„ôv t cvV 29 †_‡K cvV 46 ch©šÍ| 

`ªæZ cVb- cvV 45, cvV 48 cvV 52, 

 

3q gvwmK cix¶v - 20 

Avgvi evsjv eB: 57 †_‡K 66 c„ôv t cvV 45 †_‡K cvV 50 ch©šÍ| 

 

evwlK© cix¶v Ñ 70 

Avgvi evsjv eB: 57 †_‡K 72 c„ôv t cvV 44 †_‡K cvV 56 ch©šÍ| 

`ªæZ cVb- cvV 46, cvV 47, cvV 50 

cÖ_g- evsjv-2q 

cÖ‡kœi aviv I gvbe›Ub 

1| cÖ_g cvV evsjv e¨vKiY I iPbv|  

 

1g  gvwmK cix¶v - 20 

mgq: 1. 00 N›Uv t                    c~Y©gvb t 20 

1| eûwbe©vPbx  cÖkœ (10wU)               0.5  10 = 5 

2| mZ¨/wg_¨v wbY©q (10wU)            0.25  10 = 2.5 

3| k~Y¨ ’̄vb c~iY (10wU)            .25  10 = 2.5 

4| GK K_vq DIi `vI (10wU)              .5  10 =   5 

5| Aby‡”Q` wjLb                                          5 

                        ‡gvU = 20 

1g ,2q, 3q mvgwqK cix¶v Ñ 70 

mgq: 2. 00 N›Uv t                    c~Y©gvb t 70 

1| eûwbe©vPbx  cÖkœ (25wU) (PviwU Ackb _vK‡e)              1  25 = 25 

5. eY©bvg~jK cÖ‡kœvËi: (5 wU)       5 5 = 25 

6. cÎ †jL : (1wU)                  10   1 = 10 

7. Av‡e`b cÎ: (  1wU)          5  1 = 5 

8. Aby‡”Q` †jLv : (1wU)                                         1  10 = 10 

                                †gvU =  70 

cÖ_g gvwmK cix¶v - 20 

evsjv e¨vKiY I iPbv : 5 †_‡K 16 c„ôv, Aa¨vq - 1, Aa¨vq - 2| 

Aby‡”Q`  K )  Avgv‡`i RvZxq dzj t | 
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1g  mvgwqK cix¶v Ñ 70 

evsjv e¨vKiY I iPbv : 5 †_‡K 20 c„ôv, Aa¨vq - 1, Aa¨vq - 2| Aa¨vq - 3| 

`iLv ’̄Ñ AMÖxg QzwU †P‡q cÖavb wkÿ‡Ki wbKU QzwUi Rb¨ Av‡e`b| c„ôvt-47 

cÎ Ñ †Zvgvi `v ỳi Kv‡Q GKLvbv cÎ †jLv | c„ôv t - 45 

Aby‡”Q`  K )  Avgv‡`i RvZxq dzj t-  kvcjv | 

 

2q gvwmK cix¶v - 20 

 

evsjv e¨vKiY I iPbv : 17 †_‡K 24 c„ôv, Aa¨vq - 3, Aa¨vq - 4|  

Aby‡”Q`  K )  Avgv‡`i RvZxq cït evN| 

 

2q mvgwqK cix¶v Ñ 70 

 

evsjv e¨vKiY I iPbv : 17 †_‡K 28c„ôv, Aa¨vq - 3, Aa¨vq - 4   Aa¨vq - 5| 

`iLv ’̄Ñ QzwU gÄy‡ii Rb¨ Av‡e`b| c„ôvt-47 

wPwV  t- †Zvgvi Rb¥w`‡bi Avgš¿Y Rvwb‡q eÜz‡K GKwU cÎ †jL|  

Aby‡”Q`  K )  Avgv‡`i RvZxq cït evN| 

 

3q gvwmK cix¶v - 20 

evsjv e¨vKiY I iPbv :   Aa¨vq - 2,    Aa¨vq - 8  | 

dig c~iY c„ôv t-49 

 

evwlK© cix¶v Ñ 70 

evsjv e¨vKiY I iPbv :   Aa¨vq - 1,    Aa¨vq - 2,   Aa¨vq - 8,     | 

wPwV  t- UvKv †P‡q †Zvgvi evevi wbKU cÎ †j‡Lv|  

`iLv ’̄ t- fwZ©i Rb¨ Av‡e`b cÎ|  

dig c~iY   c„ôv t-49 

 

 

 

English 
1. English For Today for class one.  2. Learning Basic English-1 

 

1st 2nd ,3rd  Month Examination:- 20 
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Time: 1 hour                                                      Marks: 15 

1. Multiple choice :          0.2510 = 2.5 

2. Word meaning:           0.50   10 = 5 

3. True/False :           0.25   10 = 2.5 

4. Fill in the gaps :          0.25   10 = 2.5 

5. Make sentence (with given word)                   0.25   10 = 2.5 

6. Making word from Jumbel letters :        0.50   10 = 5 

       Total marks: 20 
 

1st, 2nd  &3rd  Terminal Examination:: 70 

 

Time : 2 hourse            Marks : 70 

1. Word meaning :              1   10 = 10 

2. Make sentence (with given word)    1   5 = 5 

3. Making sentence with jumble words :               1  5 = 5 

4. Writing a poem : (5 lines)                2   5 = 10 

5. Simple synonyms :                                           1   10 = 10 

6. Fill in the blanks with clues                1   10 = 10 

7. Fill in the blanks without clues                1   10 = 10 

8. Translate 10 words from Bengali to English :               1 10 = 10 

 

1st Month Examination: 20 

 

English For Today: Page ( 1-12)  

Vocabulary: Page 61  

Learning Basic English: 5-15 (Fill in the gaps) 

 

1st Terminal Examination: 60 

 

English For Today: Page ( 1-23)  

Vocabulary:  Page 61   

Learning Basic English: 5-20  (Fill in the gaps) 

Synonyms : Cap, Ox, Rat, Look, Fine, Little, Sheep, Take    etc 

 

2nd  Month Examination: 20 

English For Today: Page ( 24-38)  
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Vocabulary: Page 62  

Learning Basic English: Page 21-30  (Fill in the gaps) 

  

2nd Terminal Examination 

English For Today: Page ( 24-50)  

Vocabulary:   Page 61,62  

Learning Basic English: 21-35   (Fill in the gaps) 

Synonyms: Boy, Up, Lazy, Good, Watch, Cot, Student, House etc  

 

3rd  Month Examination: 20 

 

English For Today: Page (51-60)  

Vocabulary: Page 663  

Learning Basic English: 36-42  (Fill in the gaps) 

 

Terminal Examination: 70 

 

English For Today: Page ( 40-50)  

Vocabulary:   Page 61,62 ,63 

Learning Basic English: 36-48     (Fill in the gaps) 

Synonyms : Tall,Happy, old, sad, thin, short, Round, etc.  
  

English- 2nd  
cÖ‡kœi aviv I gvbe›Ub 

1. Brighter Communicative English Grammar Translation & Composition Book- 1  

1st  Month Examination:- 20 

Time: 1 hour                                                    Marks: 20 

1. M.C.Q /....../......./......./........./       0.50   10 = 05 

2. True/False         0 .50   10 = 05 

3. Fill in the gaps (10)         0.50   10 = 05 

4. Answering Questions in a short (10)       0.50   10 =05 

       Total marks: 20 

 

1st Terminal Examination: 70 

Time : 2 hourse                    Marks : 70 

1. Answering the Questions: (no Alternative)                          5  6 = 30 

2. Translation: (From Bengali to English)   SVO          2  5 = 10 
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3. Translation: (From English to Bengali)   SVO            25 = 10 

5.Write a Paragraph: (no Alternative)                                  10  1 = 10 

6. Reading test                                            10 

                    Total = 70 

1st Month Examination: 20 

 

English Grammar Lesson 1, 2  (Page : 3-7 )  

Translation : Lesson 1 ( Page 23 ) 

Paragraph: -  Myself ( Page 26 ) 

 

1st Terminal Examination: 70 

 

English Grammar Lesson 1, 2  (Page : 3-7 )  

Translation : Lesson 1 ( Page 23 ) 

Paragraph: - Myself ( Page 26 ) 

2nd  Month Examination: 20 

English Grammar Lesson 3,4  (Page : 8-12 )  

Translation : Lesson 2-3 ( Page 24 ) 

Paragraph: - My   Family ( Page 26 ) 

2nd Terminal Examination-70 

English Grammar Lesson 3,4  (Page : 8-12 )  

Translation : Lesson 2-3 ( Page 24 ) 

Paragraph: - My   Family ( Page 26 ) 

 

3rd  Month Examination: 20 

 

English Grammar Lesson 1-4  (Page : 3-12 )  

Translation : Lesson 4,5 ( Page 25 ) 

Paragraph: - The Cow ( Page 26 ) 

 

Terminal Examination: 70 

English Grammar Lesson 1-4  (Page : 3-12 )  

Translation : Lesson 4,5 ( Page 25 )   

Paragraph: - The Cow ( Page 26 ) 
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cÖv_wgK MwYZ 

cÖ‡kœi aviv I gvbe›Ub 

1g, 2q I 3q gvwmK cix¶v - 20 

 
mgq: 1. 00 N›Uv t                   c~Y©gvb t 20 

1| K_vq wjL : (evsjvq)                                      0.5   5 = 2.5 

2| K_vq wjL :(Bs‡iwR‡Z)                                      0.5   5 = 2.5 

3| msL¨vq wjL : (evsjvq )                          0.5   5 = 2.5 

4| msL¨vq wjL : (Bs‡iwR‡Z)                                       0.5   5 = 2.5 

5| k~Y¨ ’̄vb c~iY : (10wU)              0.55 = 2.5 

6| †QvU AsK (5wU) †hvM, we‡qvM                                          0.55 = 2.5 

7| eo AsK  (5wU) we‡qvM, †hvM                                    0.55 =    5   

                                        ‡gvU = 20 

1g I 2q mvgwqK cix¶v Ñ 60 

 
mgq: 2 N›Uv t                  c~Y©gvb t 70 

1| K_vq wjL : (evsjvq)       ( 5 wU)                            1   5 = 5 

2| K_vq wjL :(Bs‡iwR‡Z)   ( 5 wU)                                 1   5 = 5 

3| msL¨vq wjL : (evsjvq )  ( 5 wU)                      1   5 = 5 

4| msL¨vq wjL : (Bs‡iwR‡Z)   ( 5 wU)                              1   5 = 5 

5| †Rvov/we‡Rvo/ µgevPK msL¨v         1  5 = 5 

6| †hvM, we‡qvM, cvkvcvwk/wb‡P wb‡P ( 5 wU)      1   5 = 5  

7| cÖ‡kœi †hvM , cÖ‡kœi we‡qvM, ( 5 wU)       3   5 = 15 

8| `k‡Ki mvnv‡h¨ MYbv      0.5  10 = 5 

9| bvgZv         1  10 = 10 

10| msL¨vi Zzjbv/eo †_‡K †QvU/‡QvU †_‡K eo                          1   5 = 5 

11| R¨vwgwZt (wPÎmn msÁv wjL) 3 wU     1   5 = 5 

           ‡gvU = 70 

cÖ_g gvwmK cix¶v - 15 

 

cÖv_wgK MwYZ :- (1-33) c„ôv  

 K_vq wjL : 1-40,(1-40) 

msL¨vq wjL : 1-40(1-40) 

 `k‡Ki mvnv‡h¨ MYbv : 11-30    bvgZv t 2, 3 Gi N‡ii 

1g  mvgwqK cix¶v Ñ 60 
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cÖv_wgK MwYZ t  (1 -47) c„ôv  

K_vq wjL : 1-60, (1-60) 

msL¨vq wjL : 1- 60, (1-60) 

`k‡Ki mvnv‡h¨ MYbv : 11 - 60 

bvgZv t 2- 5, Gi N‡ii 

‡Rvo msL¨v t 2-50 

R¨vwgwZ t A_© , wPÎmn msÁv Ñ we› ỳ, †iLv|  

2q  gvwmK cix¶v - 15 

 

cÖv_wgK MwYZ t  (48-58) c„ôv  

K_vq wjL : 60 - 80, (60-80) 

msL¨vq wjL : 60 - 80, (60-80) 

`k‡Ki mvnv‡h¨ MYbv : 60  - 80  

‡Rvo msL¨v t 50- 100 

bvgZv t 6, 7 Gi N‡ii  

2q mvgwqK cix¶v Ñ 70 

 

cÖv_wgK MwYZ t  (48 - 70) c„ôv 

K_vq wjL : 60 - 100, (60-100)   msL¨vq wjL : 60 - 100, (6-100) 

`k‡Ki mvnv‡h¨ MYbv : 60 - 100  

we‡Rvo msL¨v t 1 - 50 bvgZv t 6-9 Gi N‡ii    

R¨vwgwZ : wPÎmn msÁv Ñ wÎfzR, PZz©f~R , e„I 

 

3q gvwmK cix¶v - 20 

 

cÖv_wgK MwYZ t  (71 - 84) c„ôv 

K_vq wjL : 1 - 60, (1-60)  msL¨vq wjL : 1 - 60, (1-60)  

`k‡Ki mvnv‡h¨ MYbv : 11 - 60  

we‡Rvo msL¨v t 51 - 100  ,   bvgZv t 9, 10  Gi N‡ii  

 
evwlK© cix¶v Ñ 70 

cÖv_wgK MwYZ t  (71 - 100 ) c„ôv 

K_vq wjL : 41 - 100, (41-100)  msL¨vq wjL : 41 - 100, (41-100) 

`k‡Ki mvnv‡h¨ MYbv : 50 - 100 

µgevPK msL¨v :  1 - 10  bvgZv t 5, 9, 10   Gi N‡ii  
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R¨vwgwZ t wPÎmn msÁv Ñ eM© , AvqZ‡¶Î, †KvY 

Aviwe I Bmjvg wk¶v 

cÖ‡kœi aviv I gvbe›Ub 

wba©vwiZ eB : ‡QvU‡`i Aviwe I Bmjvg wkÿv (01)   gvIjvbv KvRx gynv¤§` nvwbd 

1g, 2q I 3q  gvwmK cix¶v - 20 

Time: 1 hour                                      Total marks: 20 
1| kãv_© (10wU)      0.50   10 = 5 

2| mwVK DIi evQvB Ki (10 wU)     0.25   10 = 2.5 

3| k~Y¨ ’̄vb c~iY Ki (10wU)      0.50   10 = 5 

4| mZ¨/wg_¨v/ wbY©q Ki (10wU)      0.25   10 = 2.5 

5| GK K_vq DIi 10wU                  .5   10   =  5 

                                ‡gvU = 20 

 

1g I 2q mvgwqK cix¶v Ñ 60 

Time : 2 hourse              Marks : 70 
1| kãv_© : ( 10 wU)           0.5  10 = 5 

2| mwVK DIi evQvB Ki (10 wU)            0.5  10 = 5 

3| k~Y¨ ’̄vb c~iY Ki (10wU)          0.5  10 = 5 

4| mZ¨/wg_¨v/ wbY©q Ki (10wU)                0.5   10 = 5 

5| GK K_vq DIi 10wU                        1  10 = 10 

3| msw¶ß cÖ‡kœi DIi (10wU)          2   10 = 20 

5| Aviex nid (Avwjd †_‡K Bqv)        10  

6| ‡gŠwLK-     10 

                     †gvU = 70 

 

1g gvwmK cix¶v - 20 

1g Aa¨vq , Bmjvg ag©, Avjvni cwiPq| c„t 3, 4          †gŠwLK * Ahy, bvgvR, m~iv-2wU 

4_© Aa¨vq : Aviwe eY©gvjv c„: 24, 25 

7g Aa¨vq : Aviwe‡Z, dzj, dj, gvvQ I cvwLi bvg| c„ : 39, 

 

1g  mvgwqK cix¶v Ñ 70 

1g Aa¨vq , Bmjvg ag©, Avjøvni cwiPq| c„t 3, 4            †gŠwLK * Ahy, bvgvR, m~iv-2wU 

4_© Aa¨vq : Aviwe eY©gvjv c„: 24, * Aviwe msL¨v  

7g Aa¨vq : Aviwe‡Z, dzj, dj, gvvQ I cvwLi bvg| c„ : 39 
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1g, 5g I 7g Aa¨vq t bex I ivmy‡ji cwiwPwZ, KziAvb kixd I Avmgvwb wKZvemg~n, 

byKZvi cwiPq, Aviwe‡Z dj, gvQ, cvwL bvg t c„ t 5, 6, 26, 27, 39|   

 

2q gvwmK cix¶v - 20 

2q Aa¨vq t AvLjvK PwiÎ c„ : 12 - 15  m~iv dvwZnv c„ : 43     

†gŠwLK * Ahy, bvgvR, m~iv-2wU ( m~iv-Kvwdiæb, m~iv -bvmi|) 

 

2q mvgwqK cix¶v Ñ 70 

2q Aa¨vq t AvLjvK PwiÎ c„ : 12, 13, 14, 15  m~iv dvwZnv c„ : 43 

2q Aa¨v&q t mvjvZ, Avhvb, Ihy †Mvmj c„ : 17-19|      

†gŠwLK * Ahy, bvgvR, m~iv-2wU ( m~iv-Kvwdiæb, m~iv -bvmi|) 

 

3q gvwmK cix¶v – 20 

6 lô Aa¨vq t niK‡Zi cwiPq (hei   ©     ) ,Kvwjgv ZvBwq¨ev , 

Avgv‡`i bex nhiZ gynv¤§` (mt) (1g Aa¨vq) c„ t 9 10, 28       

evwlK© cix¶v Ñ 70 

6 lô Aa¨vq t niK‡Zi cwiPq (hei   ©     ) ,Kvwjgv ZvBwq¨ev , 

Avgv‡`i bex nhiZ gynv¤§` (mt)    †gŠwLK * Ahy, bvgvR, m~iv-2wU ( m~iv- dvjvK, m~iv - BLjvm |) 

 (1g Aa¨vq) c„ t 9 10, 28  Aviwe 1- 10 ch©šÍ msL¨v MbYv c„ t 42 

 

cwi‡ek cwiwPwZ  

 

wba©vwiZ eB : ‡mvbvgwY‡`i cwi‡ek cwiwPwZ-1 

1g gvwmK cix¶v - 20 

 

Time: 1 hour                                    Total marks: 20 
1| GK K_vq DIi : (10wU)                      0.5   10 =  5 

2| k~Y¨ ’̄vb c~iY Ki (10wU)            0.25   10 = 2.5 

3| mZ¨/wg_¨v wYb©q Ki (10wU)             0.25   10 = 2.5 

4| mwVK DIi evQvB Ki (10 wU)                  0.5  10 = 5 

6| ‡QvU cÖ‡kœi DIi (5wU)               0.5   5 = 2.5 

5| ª̀æZ cVb                                         2.5 

              ‡gvU = 20 

1g , 2q mvgwqK cix¶v Ñ 70 

Time : 2 hourse     Marks : 70 
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1| GK e_vq DIi 10wU       1   10 = 10 

2| k~Y¨ ’̄vb c~iY Ki (10wU)      1  10 = 10 

3| mZ¨/wg_¨v/ wYb©q Ki (10wU)       1  10 = 10 

4| mwVK DIi evQvB Ki (10 wU)      1  10 = 10 

6| ‡QvU cÖ‡kœi DIi (5wU)       2   5 = 10 

5| eo cÖ‡kœi DIi (5wU)       4   5 = 20 

        ‡gvU = 70 

cÖ_g gvwmK cix¶v - 20 

 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- ( 1 - 4 )    

 

1g  mvgwqK cix¶v Ñ 70 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- ( 1 - 7 )    

2q  gvwmK cix¶v - 20 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- (8-10)    

2q  mvgwqK cix¶v Ñ 70 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- ( 8 - 14 )    

3q  gvwmK cix¶v - 20 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- ( 15 - 18 )    

3q  mvgwqK cix¶v Ñ 70 

‡mvbvgwb‡`i cwi‡ek cwiwPwZ  (2) cvV- ( 15 - 21 )  

   

 WªBs  
Name of Book: How to Draw and colour (2) 
   

1g, 2q I 3q  mvgwqK cix¶v - 50 

cÖ‡kœi aviv:                                                                    gvbe›Ub 

1| wZbwU Qwe AsKb K‡i is Kiv  t                                           12 3 = 36 

2| wba©vwiZ GKwU Qwe‡Z ïa~ is Kivt                                      10 1 = 10 

3| cwi¯‹vi cwi”QbœZvi Rb¨                                                      04 

                                                                              †gvU - 50 

 

1g  mvgwqK cix¶v Ñ 50 

How to draw and colour (2) t Page No- 2, 4, 6,8.10 
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2q  mvgwqK cix¶v Ñ 50 

 

How to draw and colour (2)t Page No-12, 14, 16,18,20 

 

evwl©K cix¶v Ñ 50 

 

How to draw and colour (2) tPage No- 22,24,26,28,30 

 

mvaviY Ávb  
eB‡qi bvg t †QvU‡`i mvaviY Ávb (1)  

 

1g, 2q mvgwqK I evwl©K cix¶v - 50 

 

mgq: 1N›Uv t                            c~Y©gvb t 50 

1| mwVK DË‡i wUK wPý `vI: (10wU)                          .5   10 = 5     

2| mZ¨/ wg_¨v wbY©q Ki: (10wU)                                               .5   10 = 5    

3| k~b¨ ’̄vb cyiY Ki:  (10wU)                               .5   10 = 5              

4| msw¶ß cÖ‡kœvËi: (10wU)                                              2   10 = 20 

5|  †cvlvK-cwi”Q‡`i Rb¨t                   5 

6. Dcw ’̄wZi Rb¨t               10 

                                                                            ‡gvU - 50       

1g  mvgwqK cix¶v Ñ 50 

 

mvaviY Ávbt c„ôv - 5, 15, 17, 31|    

2q  mvgwqK cix¶v Ñ 50 

mvaviY Ávbt c„ôv - 8, 9,20, 21, 32| 

 

evwl©K cix¶v Ñ 50 

 

mvaviY Ávbt c„ôv -  12, 22, 23, 25, 38|  

 

12,1,10,3,8,5 

2,11,4,9,6,7 


